Name: o Class: o
( Divide numbers ending in zeroes j
a. 560,000 + § 369,000 + 6
b. ivide the following and tick the most correct answer.
4900 +7 64,000 + 4,00 8,720,000 +10,000
070 16
[ 700 ] 16,000
0+ 06
955,000 = 500 00,000 + 50 792,500 + 500
01910 100,000 1,585
191 1,000 15845
[ BETRT 10,000 1564
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Divide numbers ending in zeroes

,000 + 5 369,000 + 6
112000, | 61500
5| 560000 6| 269000
| 5 36 ]
06 09
1y - | 6}
10 30
10 -1 3
QQ!— Stop here and add the QQ_— Stoplhere and add the

remainjng zeroes in the quotient remaining zeroes in the quotient

ivide the following and/tick the most correct answer

900 + 7 64,000 + 4,00 8,720,000 +10,000
70 16 87,200
7~ Ll
700 ] 16,000 872 '
7 06 87,000
55,000 = 500 00, 000 = 50 792,500 + 500
y '/
1,910 100,000 1,585
(BT 1,00 1584
19,10 10, 000 1564
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